Calculus I, Spring 2024 (Thomas' Calculus Early Transcendentals 13ed), http://www.math.nthu.edu.tw/~wangwc/

Brief solutions to selected problems in homework 09

1. Section 14.4: Solutions, common mistakes and corrections:

 $y = ue^{v} \cos u \cdot (u, u) = (-2, 0)$ $y = ue^{v} \cos u \cdot (u, u) = (-2, 0)$ Ju + du de + du de = (Wx.Wy.Wz) (dx, dy, dz $\left(\frac{2\chi}{\chi^{2}+g^{2}+\xi^{2}}\right)$ $e^{\nu}\left(u\cos(x+sm(x))+\left(\frac{2g}{\chi^{2}+g^{2}+\xi^{2}}\right)e^{\nu}\left(r-su-usm(x)+\left(\frac{2g}{\chi^{2}+g^{2}+\xi^{2}}\right)-e^{\nu}\right)$ STAZ 2 KIX (-21052-51A2) - COSZ 2 KIX (1052-25TA2) - 1/2 $--(\frac{1}{2})-\frac{1}{2}= = \frac{\sin 2}{(\sin e^{\theta}) - \frac{\cos \theta}{2}(\cos \theta e^{\theta}) - \frac{1}{2}u}$ 51n 2+ 6052

Figure 1: Solution to Section 14.4, problem 10, method 1

ethodz

Figure 2: Solution to Section 14.4, problem 10, method 2

Suppose fis diff.
42.
$$u = x - y$$
, $v - y - z$, $w = z - x$.
 $\frac{\partial g}{\partial x} = \frac{\partial f}{\partial u} \cdot \frac{\partial u}{\partial x} + \frac{\partial f}{\partial u} \cdot \frac{\partial v}{\partial x} + \frac{\partial f}{\partial u} \cdot \frac{\partial v}{\partial x}$
 $= \frac{\partial f}{\partial u} \times 1 + \frac{\partial f}{\partial v} \times 0 + \frac{\partial f}{\partial w} \cdot (-1)$
 $\frac{\partial g}{\partial y} = \frac{\partial f}{\partial u} \times (-1) + \frac{\partial f}{\partial v} \times 1 + \frac{\partial f}{\partial w} \times 0$
 $\frac{\partial g}{\partial z} = \frac{\partial f}{\partial x} \times 0 + \frac{\partial f}{\partial v} \times (-1) + \frac{\partial f}{\partial w} \times 0$
 $\frac{\partial g}{\partial z} = \frac{\partial f}{\partial x} \times 0 + \frac{\partial f}{\partial v} \times (-1) + \frac{\partial f}{\partial w} \times 0$
 $\frac{\partial g}{\partial z} = \frac{\partial f}{\partial x} \times 0 + \frac{\partial f}{\partial v} \times (-1) + \frac{\partial f}{\partial w} \times 0$

Figure 3: Solution to Section 14.4, problem 43

Remark: There may be some confusion in the statement of Problem 43. It should have been written as following:

let f(u, v, w) be differentiable and $\frac{g(x, y, z)}{g(x, y, z)} = f(u, v, w)$ where u = x - y, v = y - z, w = z - x. Show that $\frac{\partial g}{\partial x} + \frac{\partial g}{\partial y} + \frac{\partial g}{\partial z} = 0$

(c) Fact $F(x) = \int_{a}^{b} g(t,x)dt = g(u,x) \cdot \frac{du}{dx} + \int_{a}^{u} g_{x}(t,x)dt$ $=) F'(x) = \int_{a}^{b} g_{x}(t,x)dt$ (c) For $F(x) = \int_{a}^{+\infty} g(t,x)dt$ (c) For $F(x) = \int_{a}^{+\infty} g(t,x)dt$ (c) $\Rightarrow F'(x) = \int_{a}^{+\infty} g(t,x)dt$ (c) $\Rightarrow F'(x) = \int_{a}^{+\infty} g(t,x)dt$ (c) $\Rightarrow F'(x) = \int_{a}^{+\infty} \frac{dx^{2}}{dx}$ $\Rightarrow f'(x) = \int_{a}^{+\infty} \frac{dx^{2}}{dx}$ $\Rightarrow f'(x) = \int_{a}^{+\infty} \frac{dx^{2}}{dx}$

Figure 4: Solution to Section 14.4, problem 51

Remark: The meaning of $G_u \cdot \frac{du}{dx} + G_x \cdot \frac{dx}{dx}$ is quite clear in the context. Alternatively, one could write it as $\partial_1 G \cdot \frac{du}{dx} + \partial_2 G \cdot \frac{dx}{dx}$ to avoid potential confusion about what $G_x(u(x), x)$ really means.

2. Section 14.5: Solutions, common mistakes and corrections:

 $f(x,y) = x^{2} - xy + y^{2} - y$ $(a) \nabla f(1,-1) = 3i - 4j |\nabla f(1,-1)| = 5,$ $(b) - \nabla f(1,-1) = -3i - 4j ; \qquad \mathcal{U} = -\frac{3}{5}i$ (b) $-\nabla f(1,-1) = 0$, $\vec{u} = \frac{4}{5}i + \frac{5}{5}j$ or (c) $D_{\vec{u}}f(1,-1) = 0$, $\vec{u} = \frac{4}{5}i + \frac{5}{5}j$ or ($\vec{e}, \vec{u} \perp \nabla f$) (d) Let $\vec{u} = u_{11} + u_{2j}$ $u_1^2 + u_2^2 = 1$. V $Dif(1,-1) = (3i - 4j) (U, i + U_2j) = 3u - 4u_2 = 4$ (e) $3ui - 4u_2 = -3$ И, 9 U2=0, U1=

Figure 5: Solution to Section 14.5, problem 29

(D(12,12 35 It $= -3 \int_{1}^{1} \int_{1}^{1}$ > Vf. (0,-1)= then find (F =2/2 4

Figure 6: Solution to Section 14.5, problem 35

(1)
$$h(x, y) = \varepsilon_1(x - x_0) + \varepsilon_2(y - y_0)$$
 with $\lim_{(xy) \to (x, y_0)} (\varepsilon_1, \varepsilon_2) = (0, 0)$
(2) $h(x, y) = \varepsilon_1(x + x_0) + y - y_0 \varepsilon_2$ with $\lim_{(xy) \to (x, y_0)} (\varepsilon_2 - \varepsilon_2)$
(3) $-\frac{1}{(x - x_0)} = \frac{1}{(y - y_0)} - \frac{1}{(x - x_0)}$
(3) $-\frac{1}{(x - x_0)} - \frac{1}{(y - y_0)} = \frac{1}{(x - x_0)}$
(3) $-\frac{1}{(x - x_0)} - \frac{1}{(x - x_0)} + \frac{1}{(x - x_0)}$
(4) $\frac{1}{(x - x_0)} + \frac{1}{(x - x_0)} + \frac{1}{(x - x_0)}$
(5) $\frac{1}{(x - x_0)} + \frac{1}{(x - x_0)} + \frac{1}{(x - x_0)}$
(5) $\frac{1}{(x - x_0)} + \frac{1}{(x - x_0)} + \frac$

Figure 7: Solution to Homework 08, problem 2, part 1

() ⇒(2) Assume, J Z, Zz with lini (E, Zz)=(0.0) St. $h(X.Y) = \Xi_1 (X - X_0) + \Xi_2 (Y - Y_0)$ 2, 4X+ 22 4 X LIXY $\left(\frac{z_1 \bigtriangleup X}{\sqrt{(\omega \times)^2 + (\omega \times)^2}}\right)^2 + \frac{1}{\sqrt{(\omega \times)^2 + (\omega \times)^2}}$ ((ax)2+(ay) Let 5=\$ $\frac{\mathcal{Z}_{1} \bigtriangleup X}{\sqrt{(\bigtriangleup X)^{2} + (\bigtriangleup Y)^{2}}}$ $l_{1}m | \xi | \leq l_{1}m | \xi | + l_{1}m$

Figure 8: Solution to Homework 08, problem 2, part 2

3. Problem 3:

-f(x,y) is diff. at (x, y) $\Rightarrow f(x,y) = linear function + Smaller"$ Eg : $(y) = \sqrt{\chi^2 + y^2} = \frac{1}{2} (\chi_0, y) = (0, 0)$ What is the lineor part? Try to find from, from, 0,0)) Both de la texis LN.E=) part linear

Figure 9: Problem 3

Eq. $f_2(x, y) = 2x + 3y$ $diff_{,} \iff lim \xrightarrow{error}$ ever $f_{3}(\alpha, \gamma) = \langle \chi_{+}^{2}$ Eg3 =(0,6**)** Try to find fx(0,0) (= ank $f_{y}(0,0) (=)$

Figure 10: Problem 3, continued

If
$$f(x, y)$$
 is diff. at (x_0, y_0)
 D_{u, ξ_0, y_0} $f = \mathcal{H}(x_0, y_0) \cdot \hat{u}$
 D_{u, ξ_0, y_0} $\overline{u} = (uord, sind)$
But $D_0 + f_3 = cos^3 Q + v + (\overline{u} = cos)$
 f_3 is not diff. at (o, o)
 f_3 is not diff. at (o, o)
 $f_4(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_4(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_4(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_4(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_4(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_4(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_4(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_4(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_4(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_4(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_4(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_4(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_4(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_4(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_4(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_4(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_4(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_4(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_4(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_4(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_4(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_4(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_4(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_4(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_4(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_4(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_5(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_5(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_5(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_5(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_5(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_5(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_5(x, y) = 1 + 2x + 3y + 4x^2 + 5xy + 6y^2$
 $I_5 = f_5(x, y) = 1 + 2x + 3y + 6y^2$
 $I_5 = f_5(x, y) = 1 + 2x$

Figure 11: Problem 3, continued

4. (Extra credit, very hard!) True or False? If $f_x(0,0)$, $f_y(0,0)$ and $D_{(\cos\theta,\sin\theta),(0,0)}f$ all exist and

 $D_{(\cos\theta,\sin\theta),(0,0)}f = f_x(0,0)\cos\theta + f_y(0,0)\sin\theta, \text{ for all } \theta \in [0,2\pi],$

then f is differentiable at (0, 0).